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Cover an area of 249.75hv,

7:%&‘— L jbﬂzt/\_ }i CI: % < Fﬁ { CE f:TT %%75)”‘ é*fﬁ The length of vertical is X.
MN—RNTA—RIZHRADT, GHEEENSBIL ., T, HiEt— The length of width is X+5.
1 2 A PA If the length of vertical is 105U",
ib‘ 1: FamgT, cnasl< o, KDL ES ‘}ib) X(X+5)=249. 75— (10x 10+5 % 10) =99. 75
E%Lk—ﬁ/%é Fﬁ * CE 77‘\_(( / e X%ﬂ@_‘ ii{“f {_L The length of vertical is 10+3=13 sun,
FIFLEO=~TA2 R LT, “R=~FE A, F1UC 33:@_% 99. 75— (20x3+3x3+3x5)=215. 75"
. — — The length of vertical is 10+3+0.5=13.5v
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There are area of 249"v7 5 . The length of vgrtlcal IS shorte?n than the | g N
length of width. Hf)w I.ong is the length of vertical and Wldth. The answer is [Iem WP M1 = 00 i 0
the length of vertical is 1shaku8sung bu The |ength of width is 1shaku3@sunkg bu, h;%f T —
| put 249hu7bU5rn iR jitu. And | put 1shakv jp shou yertical multiply width make | 457 N
1shaku multiply 1shakumake 1 O0OMANd,lengs multiply width make 1shaku C
multiply 55" make 50", Take (100" and 50" )from jitu make QQhu7bu RS
570 | put 3%U" in shou. | put 15"k myltiply 2and3sU" make 2shaku3sunjn hou.
Take(2haku multiply 35" and 354" multiply 35“"and 5°'" multiply 3°4") from9
Qhu7bugrin make QQhu7busrinfrom (60" and 9"+ 15 )make 1 5hu7bubrin In the Edo period, when measuring a rice field,
in jitu. | put 5°Yin Shou which is put as 3", 1shaku 3sunjn hou multiply 2 People decided the amount of annual

hu shaku ]} sun K bu shaku - bu bu - bu . . . . .
and 5™ make2=hav G=un5eY, Take (2572 multiply 5° and 5 multiply 6 contribution paid by using summation. Some of
and5°" multiply 5" and 58" multiply 5°Y) from15bu5hu7Busrin make . .
k] Oh them have complicated topographies, and they
And 3hand 2hu 5rin and 2hu5bu from 1 5Pu5hu7BuGrin make 0. Shou is the seem to have had trouble. People have sought
length of width. Add It and 5sU" make the length of vertical. this complex topography like this picture.
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